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: 1. 5
1 The estimated area under the graph of f (z) = 5]33 —3| from

z = 0 to z = 8 by using four approximating rectangles and
midpoints equals to

(a) 76

9. If the region bounded by the curves Z+y = 2,z =0,z = 1,
and y = 0 is rotated about the r-axis, then the volume of
the solid generated is equal to

(4) o
() 37
© 5
(d) 57
(&) =
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2
3. The value of lim Z (2\/_ + \/_) Az on the interval
[1,2] is equal to

(a) 8+ —1In2
(b) 8

(c) 12+ —<1In2
(d) 10

(e) 10+1In2

5}
4. d
/$(4+31nm)6 g

—1
(a) ——3—(4 +3mz)?+e¢

(b} 3(4+4 3Inz)™° +c

(¢) —15(4+3lnz)’+c
{(d) ?(4 +3lnz) +c

() 5(4+Mmx) *+e
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622 — 13z — 5
5. f dr =
3r+1

(a) z°— bz +c
1
(b) 51n|3:13+1l+c
(¢) 22°+x+c
1
(d) 3:2+§1n|3:c—1—1|+c

(e) 32°—6z+c

6. If f(1)=9, f(8) =4, and g(x) = is continuous on

1, 8], then [18 g(z)dz =
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/3 e’
J

14+ ezxdx -

(a)

ol

(b)

=y oy wl A

©)
to! 3

8. If fis an odd continuous function such that /52 f(z)dz = 6,
5 3 a
andf3 fz)dz = 10, thenj2 f(z)dz =

(a) —4

[\
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10.

z1—tanz
[Flotenz,,
0 1+ tanz

1
(a) 3 In2

2—uz, 0<z<2

Iff(l‘):{ JI—(z—5)?2, 2<z<8

8
then using area under curves to evaluate the integral /0 f(z)dz,
we get

(b) 2+8n
(¢) 2+4+2m
(d) 8+ 257

(e) 2+ 257
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fﬂ/—’i i2

11. dr =
o (cos?z)(l+ 3tanz)¥/? !

(a) 4
(b) 6

(¢) 3

12, If flz) = /, e?tdt then /(1) =

(a) e —e
by e* -1
(c) e+1

@ -
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13.  The volume of the solid obtained by rotating the region
bounded by the parabolas y = 22 and y? = z about the
line ¢ = 2 is given by the integral

1 £

() m [ (—4y" +y' + 4y — W)Y
209 4

(b) ’frfo (4y* —y' — 45— y)dy
1 2, .4

(c) Wfo (17 +y - Ay — 2y)dy
2

(d} 71'/0 (—4va +x - 422 — 2t)dz

(e) 77/01(:1:2 —zY)dz

14, The area of the region enclosed by the curves v =4—-z
and z + 2y = 1 is given by the integral

(@) [ (3+2—y)dy
) [ 50— - vime|ds
© [ =2 —3dy
@ [0 Vit

@) [ 3-2+y)dy

-
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15.

16.

If a particle is moving in a straight line with velocity (in
cm/s) given by v(t) = 20(cost)(sin’ t) then the distance
traveled by the particle during the time interval [0, 7] is
(a) 10 cm

(b} H5ecm

(¢) 20 cm

(d) 0 cm

(e) 30 em

The base of a solid S is the region enclosed by the curve
y = v1—z? and the z- axis. If the cross sections of S
perpendicular to the z-axis are squares, then the volume of
S is

——
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~
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17.

18.

Page 9 of 10
An expression for the area under the graph of

flz) = op2 -8z, 4 <z <9, a5 a limit and using right
endpoints 1s

: d
Ify:\/ijgﬁlntdt, then Qma%fy:

(a) zlnVT
(b) Vol
(c) z+InVz
(d) vz+hVz
(e) Invz
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19.

20.

4
The area of the region hounded by the curves ¥ = and

_yzwfrom:vzlto:z::ﬁlisequalto

4
If A= ]#3 V25 — 22 dx, then which one of the following
inequalities is False ?

(a) 21<A<24
(b) 21 < A<35

(c) 0<A<3D

@ n<a<
251

2

() 24< A<
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